R 112 SBEESE 3 RET/NERRARBEEEEEZERIER

HEA : 11328 15H CGEAN) R CEREREEERBYAE 3 BiEg=E
B R sy | wemEn | R
08 | 50
wioo |57
09 | 00 | =% B ¥r O & 3w e
=30 | 28 m FO0% i
wim YR $ 05 pFR
10:00 | 2% R} % 0 i s
10100 R 50 # PR
10730 | € 5] ®0o | v
%k B ,
10;30 =0 A
11:00 |4 &=R-] o (0 & AR
11}00 Bg Bl EO® bR
Ba R % 0 PR
1 | 0 [ )
b B MO & 1
12500 T
3 B OB | £y
CAER] (A AR 02 Fithe |09




T 112 SRS 3 RE T/ NERFPRBEREEC ZERER
HE1: 13482 B 15 H CAMD) 8  CRESHREEBRIBEIH 3 g

B R sagy | wmEn | B
Bi% P

13 : 30

13:30 [FTEE %02 gy

ny 37 % B ) 2 04 gV B

14: 00 o BB FO¥ | By

14:30 | B @] HOE i Mg

14:30 | ®EED 04 i

st [ MO | %Y e

wim T & B 07z i Hip

15230 | s & B MO % i M

5050 | 700 g0y | #vmm

16%0 BRI 10 p2 5 Y B

16:00 | # @] #01a 5 Y B

16 | 30 | 2E&RA) R0 b 59 B

16:30 | ## BT % 02 i B

17 | 00 | A% R #0353 T




T 112 SRS 3 KB/ NEBRPR B HREEC L ERER
FH: 113482 5 16 GAR) BB : RS BRmIIAE 3 iR s

B SRR ey | Rwgm | FE
08 © 50 )
AT
09 : 00
wim = 2B FO0 4 i by 53
0930 | i g ) MO A i
wiw 2 L) 0 hP R
1owo AT BL F04 B
10:30 [ #7 B 08 Ao
1030 ATE 10p 5 f e
11500 | B AT AE: "k
Him R 0% bR
11:30 | 9 &) S B R
11:30 | 02 (B2 ) £02 PR
|
250+ e m) #10 PR

e
Dl
=

a

o

¢3

AN

[N

S

fos
N
e
=




